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Name the type of current -
{a) Used in household supply  (b) given by a cell
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How shoot and roots of a plant respond to light ?
T Tl 1 U w1 W = o S
List any bwo limitations in hamessing wind energy.
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Mention the colour of FeSOl TH0 crystals ? How does this colour change upon
heating ? Give balanced chemical equation for the change.
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Explain why calcium metal after reacting with water starts floating on its surface ?
Write the chemical equation for the reaction.
zcmﬂﬁuvﬁw%a}ﬁ%ﬁ%ﬁavﬁrmﬁfﬁmmmm
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Calculate the work done in moving a charge of 2 coulombs across two points having,
a potential difference of 12V

(@) Tl Te g % arl o e 4 v it

(b) Tl &= w9 wTEE ¥ Frefim %0 5 foag fag 39w
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Afa]  Draw magnetic field lines around a bar magnet

M The magnetic field in a given region is uniform. Draw a diagram to
represent it
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Give reasons for the following :
All decomposition reactions are endothermic reactions.
Colour of copper sulphate solution changes when an iron nail is dipped in it.
W Respiration is an exothermic reaction.
U O e X T F o e vy s w4 T Y H EREeE e
Il & A 7% U # ufafda @ e m
(i)  wEEX Ry F e fafed
(i) & REd A A el vamate afilE e TR Rk
(iii) <1 9REd w affrmet ¥ ot fafa a
A brown substance ‘X’ on heating in air forms a substance 'Y’. When hydrogen gas
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is passed over heated 'Y’, it again changes back into ‘X"
i Mame the substance ‘X" and Y

(i Name the chemical processes occurring during both the changes.
1ii Write the chemical equations mvolved in both the changes.
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Name the three products of “chlor - alkali process’ ? Write one commercially or

industrially important material each that can be prepared from cach of these
products.
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A metal X Ieft in moist air for a longer time, loses its shiny brown surface and gains

a green coat. Why has this happened ? Name and give chemical formula of this

given coloured compound and idenfify the metal. List two ways to prevent this

process.
}/auwmmﬁmaﬂwmw@ﬁm%@mﬁwﬁﬁqﬁﬁﬁmﬂw 3
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A lamp rated 60W and an electric iron rated 800W are used for 6 hours everyday.
Calculate the total energy consumed in 30 days.

%ﬂ =1 gra weitfa i 5 S wfdmsi Ry 3K Ry 31 wed n F frm vER S 3
W ?
(i) A ol ufee ¥4 0 3l 8 0 % 2 wirivE w1 Tvd %9 F st s A = @
W/Wﬁﬁwmmmm%ﬁl

Draw a diagram to show how two resistors Ry and Ry are connected in
parallel.
(i) | Ina circuit if two resistors of 4 £ and 8 £} are connected in parallel, find out
i the ratio of current passing through the two resistors.
Wﬁﬁmwmmmﬁqwﬁmﬁﬁm%mwmm 3
% T fafed food =o% woe &3 3t fw =1 9m @a & el @9 uwad
AT & raid 89 F1 Y witau |

List the factors on which the magnetic field produced by a current carrying straight
conductor depends ? State the rule which gives the direction of its magnetic field.
Draw the pattern of magnetic field lines due to a straight current carrying
conductor.

/é TS 1 G FifE | 9% S v fafiad 3
Define transpiration. State its two functions.
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Name the hormone secreted by thyroid gland and state its function.
Why is it important for us to have iodised salt in our diet ?

Name the disease caused due to deficiency of iodine and mention its main
symptom.

170 gl feen &1 witafes 50731 o9 o wRo S ws e e o ahEd
5541 =1 99 T3isA |
Define reflex action ? Give one example. Show with the help of a flow diagram the
path of the reflex acton.
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List any two criteria for selecting a good fuel.

Explain how does buming of fossil fuels cause air and soil pollution.

19 fereamyei Fefiad o e e 9 el Yo forg oo S B 5 e ol o 3
=1 =y feifid

Describe how a hydropower plant produces electricity. Write any two advantages
of hydro electric energy.

%%’M’ﬁmaﬁfﬁgﬂﬁaﬁamm%aﬂzﬁﬁfmﬁmﬁ%ﬁﬁwﬁm
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il 1= 511 39 =g F1 Aem et wftssr fafy T

A metal "M" which is one of the best conductor of heat and electricity used in
/[g?ki,ng electric wires is found in nature as sulphide ore M:S ?

Gy~

Name the metal ‘M’
Which process will be suitable for extraction of this metal M from its ore
MsS?
Write the balanced chemical reactions involved in the process of extraction.
With the help of a labelled diagram explain the process of electrolytic
refining of the metal.
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A metal E is stored under kerosene. When a small piece of it is left open in air, it
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catches fire. When the product formed is dissolved in water it furns red litmus to
blue.

T ()  Name the metal E,

Lo (b Write the chemical equation for the reaction when it is exposed to air and
= when the product is dissolved in water.

(iti)  Explain the process by which the metal is obtained from its molten chloride.

}1./{;1} el viarel o ot w o= S A T FO W w2 R W 5o
S IR e BN W ST 9w 9 O 1 99 ueid @ A e g3 fafed
3R 1 ATel Ufhal T
(b) 8 AE F1 A ol Fomet o wjen s 10 99 F e @ sgw § @
v e TR e s 27 558 et tamtE gdte kel 79 ifits
% B I9am fafad |
@ Crystals of a substance changed their colour on heating in a closed test tube
but regained it after sometime when they were allowed to cool down. Name
the substance and write its formula and explain the phenomenon involved.
(b) Name the compound whose one formula unit is associated with 10 water

molecules. How is it prepared ? Give equations of related reactions. Give
two uses of the compound.

1]

EEr S OR

(@) YRR A FHIran vl § F ww vmd <6 W wina (dages) ¥ e 5
TR Je % pH # e wo o o A < am v @ i 31 e
W A 5 A § e wehr ger fied 32
(b)  Af fhe w@m & faemt = pH am 7 3 21 o 50wyt S g2
Fe waoil # # R § e oa o el oW wm e % e am
fafed -
()  wefmm gene
(i)  FHIFEY witEe
y Tooth enamel is one of the hardest substance in our body. Explain the
changes in pH of the mouth which indicate tooth decay. How does tooth
paste help in preventing it.
(b What is the nature of the salt if the pH of its solution is greater than 7 ?
Name the acid and base would be used to prepare the following salts :
({.i)_ Potassium sulphate
(il— Ammonium Chloride
22. (@) “ToEd uRF andtE wuE' 9e w aumEd | 5
(b) T =W G S B Al S0 1 A e e S | S % B
fefia
T T awi ¥ Ar S e e i al e
Explain the term : Heating effect of electric current ?
Derive an expression for the heat produced by electric current and sfate

Joules Laws
@ Explain why an inert gas like argon is filled in bulbs.

39Er / OR
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(i) gToE wioua WE B s g £7 ufiee Siaa

What is meant by potential difference ? State its SI unit.

Mame a device that helps to maintain a potential difference across a
conductor.

Calculate: (i) the highest (ii) the lowest resistance that can be obtained
by the combination of four coils of resistances 40, 80, 12 Q and 24 Q. 7

foem gra=ia Wom = iaifE St fov =1 5oa 9§ o5 Teaean T 5
WY 6 EE $Ea 3 waes 99 H giedd T 1 wE 39 Seal 9 uE UhE
T E

(b) Tl Faeil & g fE =22 = o1 fatEt fafgd

/(z)—/' Define electromagneticinduction. With the help of a diagram, explain an

activity to show that change in current flowing through a coil induces
rrent in the neighbouring coil.

(b Mention two ways to induce current in a coil.
=gEr / OR
(@) = Torepn oftes = o saaey witm wited fagd <= <= gfaei €
O TE=wE (i) TerEge A
(iii) TH = (iv) T TEL

(b) i SRV G S ST whi -0 4R Y S 6 SEvEE e 7

(a) Draw a schematic labelled diagram of a domestic wiring circuit which

includes :
(i) a main fuse (ii) a power meter
(iiiy an electric bulb (ivi  apowerplug
(b)  Why is it necessary to connect an earth wire to electric appliances having
metallic covers ?
24? (a) = wEd F Fe fom wifed ofw swd frefatas F Twifsa s - 5
- (i) R (i) T e
(iii)  TUEE (iv) e

(b) I FEw § TR aAfeg = i Feg = vl fae A S 2

M Draw diagram to show the cross - section of human heart and label on it.
i aorta i ulmonary arteries
(q})""ﬁ pulmonary veins "% *‘.I?:Er'seu:a'tf.-ra::frF
@f Why do ventricles have thicker, muscular walls than artria ?
YT S OR
(a) @i = o it ulmar = o g aEEd
(b)  Hufuferas sre Hiom e ver wrd St E7 aeeEd

(a)  Explain the process of nutrition in amoeba with the help of diagram.
(b)  Explain how does Paramoecium obtain its food.
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4T3 / SECTION - B

25._- afian seings AR Hifead Teke & A & W fHer 3 0F Y30 ey W e 1
#1 = afufmm =1 aritga fea =1 2= ©
(a)  HAEA sfalE F =1 H )
(by  Tadmm afafen & =99
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On mixing solutions of Barium chloride and sodium sulphate a white precipitate is

obtained. This reaction can be categarized as : B o wd Dn WY )2

(a) Combination reaction Lok *‘;.-\ i e =
(b) Decomposition reaction =t g et Jhw)e
(e} Double displacement reaction

(d) Displacement reaction

IR SEi 3 e Tethe % el W == S aaE 1 08 S EE T SR B 1
aehe 3 fredl # TEAad # T A o 9 O S S TS T THH B H

et faft s & wnw OF Tan e A S S o w32 o e S F e
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Sk
(a) (d)
(a) (a) (b) {b) (c) (c) (d) (d)

Four student in a class were asked to observe the effect of heating ferrous sulphate
crystals. They started heating ferrous sulphate in a test tube. The teacher stopped
three of them for adopting a wrong procedure for heating. Which of the following
set - ups shows a correct way of heating ?

) (b)

277 U ©F % W 91 94 A, B, C, D & T #Ew: 99 HCL, KO 1 SeiE &{eEd, 1
NaOH 3% a1raa =it 81 578 9 fom el s pH AR ¥R 23 € -
(a) A #RB (k) BIRC © C¥RD (d) BIRD
A student has four samples A, B, C and D containing dilHCI, aq K, dil. NaOH

and distilled water respectively. The solutions with equal pH are :
(a) A and B (b)) BandC () CandD (d) B and D
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pH & =23 %9 H 58 =9 2 -
(a) =I5, T 1, s aneEee
(b) 9 = T, 9, Hifcas aEsEE
(€  Hifewm aeEre, o=, 5e ==
(d) @, Hicon SEeEEe, 59 = ™
Four students measured the pH values of water, lemon juice and sodium

bicarbonate solution. Correct sequence of solutions in decreasing order of pH value
would be :

(a) water , lemon juice, sodium bicarbonate

(b) lemon juice, water, sodium bicarbonate

{c) sodium bicarbonate, water lemon juice

(d) water, sodium bicarbonate, lemon juice

%maaﬁwﬁwﬁamm@ﬁmmamamammmm 1
TREISH 9 w1 & #HR Difean wEee F O e a8 s sweeet p 6
T el o <1 o =2 8, Zn % W Sfafen 323 @ ERaeE 3 Na.Cos &
e AfRRAT HT R OO, 308 e &1 ‘A’ SE § o el 5t et -
(8 ATERBd gw &) (b)) AdaraRpdazmd
(€ A FRBIE T aw E (d) A #RBIEF =

A solution in test tube ‘A’ turns red litmus blue, evolves hydrogen on reaction with
Zn and does not react with sodium carbonate, whereas solution in test tube ‘B’ turns
blue litmus red, liberates hydrogen on reaction with Zn and CO: with Na,COs.
Solution taken in ‘A’ and ‘B are -

(a) acid in A base in B {bY  basein A acid in B

(c) base in both 'A’ and ‘B’ (d) Acid in both“A’ and ‘B’

30. A, B, C, D 7Witd =R wfeal 3% o 1 ¥ w1 fead 1 =% 3 = v 1
wAiaag =i =4 22

A B C D
el ol A E R Ted-gw -
@y A by B @ C d D

Four strips labelled A, B, C and D along with their corresponding colours are shown
below. Which of these could be made up of Aluminium ?
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.4 £ B
Reddish Silvery Frark Blackish
brown aTey grev grey
(a) A () B A€} = {d) D

T WM § A B F) Zn F FeSO, HEA & WY AR 6 @759 S B w5l
T S WEiE F e e S e v m @ i aw e

e | faem s e = =, Ffe
urftges I afem 4 wE

(a) | TR TREH Gl

(b) | THE o] T T

(c) |zFmiEm e FTE

(d) |ewmwm | oEA el

Students in a lab were assigned the experiment to study the reaction of Zn with
EeSO; solution. The following set of observations were obtained. Identify the set
where all observations were correct.

¥

Set | Initial colour | Final colour Deposits, if oA i TN
of solution of solution any i '
| {a) | colourless colourless Red
(b) | colourless pale green Black
{c) | palegreen Blue Black
_td) | pale green colourless Black

! i | wanfed w1 29 wiatas & o w o favarr . Fdea =
A = & g a3l v 9m ur ol Taverm o & fod uftey =) =g 2 7% 91
TE S

() @it %t yra-fe afiafia & s

(b)  3Hiex Iratas 9 AfUS Tagis fEmmi

() drcedier arafas H sifas TgFis feamm

(d) Wil T Bl S R S Wi dee S

If a student while studying the dependence of current on the potential difference
keeps the circuit closed for a long time to measure the current and potential
difference, then :

{a) ammeter’s zero error will change.

(b} ammeter will show more reading than the actual one.

() voltmeter will show higher readings than actual one.
_{d}-  resistor will get heated up and its value will change.

1

o™

3
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33 Tehl uftgs ¥ 92 7o sfss 2 & g 10 3R s ol W o Evara femm e 1

Femram ¢ wias =1 799 =
2
1 3
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The current flowing through a resistor connected in a circuit and the potential o
difference developed across its ends are shown in the diagram  The approximate 2

value of the resistor is : : ? - ﬁg‘. o
@ 200 300 £ %. o *,_,f‘!' ] i 2
M o g n % ; t @
e mﬁ\\ ¥ £
@ 682 (@Y Rne © 20 (d 150 T
_ /waﬁﬁfq’mﬁ?ﬁaﬁ@#mﬁ:ﬂazﬂm% TH Sechie = FegadiE ¢ 1
() 20V (b) 50V (c) 0.5V (d)y 0025V

In a voltmeter, there are 20 divisions between the (0 mark and 1 mark. The least
count of the voltmeter 1s -

@ 20V (b) 5.0V yz( 0.05V (d) 0.025V
%%ﬁw%ﬁﬂﬁﬁéﬁmmmﬁmwﬁwﬁz 1
+GF
== ARAANA >

® ~f

(a) gR1 fFa=m 2R deedes (b)  dicediet iR e

(¢)  dieesie i s (d) @i IR ufwEs

Which two circuit components are shown connected in parallel in the following
circuit diagram ?

® !

S £ |
S L \*)

(a) Fheostat and voltmeter (b) Voltmeter and Ammeter
_[5)/ Voltmeter and Resistor {d) Ammeter and Resistor

1||e'
¥
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wHHE]

; 1 RI
—+{ f_———(-:l—‘v\ifv'——ww——
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(a) W1 AR faveErat V 3 59 Sl e e

(b) W IR u HE g e = a6 a6 et
()  Tavamm v =1 T 9E 9y SR E 99 ge T e |
(d) =1 3R favarm v EHT ST e wE e

To determine the equivalent resistance of a series combination of two resistors B,
and Ry, a student arranges the following set - up :

—"'_| I—_{.M

Which of the statements will be true for this circuit. It gives:
incorrect reading for current I as well as potential difference V
(b} correct reading for current I but incorrect reading for potential
difference V.
(c) correct reading for potential difference V but incorrect reading for current
(d)  correct readings for both 1 and V

/mmmﬁmwﬁﬂmwﬁﬁﬁmﬁﬁwm%: 3
() wEFHTmEAFEEE b)) wOEEgsE s
(c) I I T w6 T (d) =EEE ¥ T afafmn w0 & T
A leat is boiled in alcohol before using iodine for the starch test to:

(a) dissolve starch -::{fj remove chlorophyll
soften the leaf (d)  make it react with iodine

"y HIw % fau w1 9 aavas & 3w wm & faw ust w0 o o= A 1
TeRiEi § $o e a5 Sawe 9 21 U e AEvEE © i -
(a) UewiE Fgd i amie 3
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(b) e T 4 Frewet W S e T e

() T IoTE U W FERIER = e ol €

(d) TEHIEE SEEEEIE ¢

In the experiment to show that light is necessary for photosynthesis, the leaf is
hoiled in alcohol for a few minutes using a water bath. It is impostant becausc :

(a) alcohol is highly volatile

ib) steam for water bath heats the leaf rapidly

{ef  steam for the water bath dissolves the chlorophyll
(d)  alcohol is inflammable

uHl ) T i T = SRl SEET S 6
@) e w wer Teee 3 aieu )
(if) i fereett 1 TE B9 F TES T ARG H6 Doy S 45 siag |
(i) T % AU HAE § e i)
(iv) = U UPi-few § wifed afR SwifE i g S
37 =0 1 TE TR B
@ (i), () @) 0 ) (), () (), )
© i) G, (v, () (@) ) (i), 6. )
Given below are the steps in the preparation of a temporary mount of stained leaf
peel -
(i) cover the material with the cover slip
(i)  transfer the stained peel to the clean glass slide and add a drop of glycerine
(iii)  remove the peel from the ventral surface of the leaf
(iv)  drop it in water in a Petridish and add a drop of safranin
The correct sequence of steps is
@ (), (V) (0,0 () () (), (i), (V)
© G666 (@ G )06
et ) freet 3 sreendl @i W wiet % e T e o s e weE % w9 A
WA foRar S
@) e w e wgl % % feni
(b) e @I E | aEH F
(c) el 1 I H A
(@ el T e
Instead of water, glycerine is used as mounting medium in the preparation of a
temporary mount of a leaf peel :
(a) _ toenlarge the material by spreading
ﬂ?{ to prevent the material from drying

() to clean the material
(d) tocolour the material
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‘v 3 CO, % Tt B ) = e & fero B w2 e fam g Afeas
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(a)  eipfia sl @ e F S e

(by R A % ) 2 = T e

(c)  werEs H e ek T E

(@) e At e e w@ s e S e g Pt e s e w5
el

The following experiment was set up to show that CO; is given out during
respiration. But there was no rise m the level of water. This was because :

REUBBER
CORK

GERMINATING SEEDS WATER

(a)  germinating seeds have not been keptunder water in the flask

(b)  water is kept in the beaker instead of lime water

{c) the cork on flask is made of rubber

(dy  nosubstance is kept in flask to absorb the gas given out by the seeds.

‘v § CO, faviifaa 2t 3 =5 weim =1 arges wEiles sreen H sigia 8 =i @
FEE % e st e 2 2

(a)  ERER % Y A H|

(b) L e "

()  Sipia e s T E

(d) i s g et s A

In an airtight experimental set up used to show that CO; is given out during
respiration, the germinating seeds obtain oxygen for respiration from :
Ha) air in the flask
(b)  waterin the beaker
(c) moisture in the germinating seeds
=(d)  water absorbed by seeds during soaking

-o00o-
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